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QUESTION 1

Which queue does the command "sysadmin dump_queue 103,0,-1,1,-2" display?
A. Inbound queue

B. Materialization queue

C. Outbound queue

D. Transaction queue

E. Message queue

Correct Answer: C

QUESTION 2

Which of the following threads is responsible for function string mapping?
A. Sgm

B. Sqt

C. Dsi

D. Dsiexec

E. Dist

Correct Answer: D

QUESTION 3

A Route between two Replication Servers represents? (Choose 2)

A. One way data flow.

B. A connection between a Replication Server and a replicate dataserver.

C. One outbound queue that can map to several Replication Server system queues.
D. A connection between a Replication Server and a primary dataserver.

Correct Answer: AC

QUESTION 4

Latest 510-033 Dumps | 510-033 PDF Dumps | 510-033 VCE Dumps

2/3


https://www.pass2lead.com/510-033.html
https://www.pass2lead.com/510-033.html
https://www.pass2lead.com/510-033.html

P 2L d https://lwww.pass2lead.com/510-033.html
aSS ea 2024 Latest pass2lead 510-033 PDF and VCE dumps Download

—— https://Pass2Lead.com

Which thread performs function string mapping?
A. SQM

B. DSI

C. DSI EXEC

D. RSI

Correct Answer: C

QUESTION 5

The Replication Server is quiescent if? Choose 2)

A. There are subscription materialization queues.

B. No inbound (RepAgent) queues containing undelivered committed transactions.

C. There are more blocks in the queue that have been written than read.

D. All messages in DSI queues have been applied and acknowledgements received from data servers.

Correct Answer: BD
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